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Abraham trusts God Genesis 22:1-19

25 years after God first promised that Abraham and Sarah would have a child, Isaac their long-awaited and
precious son was born. Abraham had learned a lot in that time, mainly that he had to keep trusting God to
keep his promises. So you can imagine his shock and horror when this happened...!

Watch the story of Abraham and Isaac https://www.youtube.com/watch?v=EGYtH4FBi 4

1. Our fifth decoration for the Jesse Tree

Cut out the picture of the ram and stick it on card or
plastic. Colour it in and stick some cotton wool on its
body. Make it look a bit scraggy and dirty — it was a wild
ram. Find a twiggy twig and stick the ram in it. Hang it on
your Jesse Tree with a piece of ribbon or tape and write
“God will provide!” on it.

2. Pray

Abraham couldn’t understand what God was doing but he learned that God could be trusted and that
he would provide.
When has God provided for you? Thank him.

Isaac was afraid, but God saved him and everything was alright in the end.
When has God helped you when you were scared? Thank him.

Loving Father God, when we don’t understand what you’re doing and
when we are scared, help us to trust you, to remember that you are
with us and to expect you to provide for us. Amen

3. Wordsearch

Do the wordsearch on the other page.

4. Words
How many words can you make out of the lettersGOD WILL PROVIDE?
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https://www.youtube.com/watch?v=EGYtH4FBi_4

Word Search - Abraham and Isaac

Circle the words from the story of Abraham and lsaac.

S|WOV|w|x|<|Z|0|lz|—|<|T|O|e
O2|Z|—|w w0V |x|w|>|—|x] |
DO|—|Z|a|T|>0|x|—|<I|T|ez|vn|—
ZI 2|V |>|n|O|-|V|0|0|F|=|<|T
—|0|w|—|w|=S|o|=|—|0|Z|u|x<|u|=
20| |T|=20|0|w|T||V|w|—|e|X
NU|lw|—|[Z|le|zlz|0le|<|Z|0|—|O
WO |O|lc|a | Z|n[O|<|—|n|u|Z
&3 (—o|0|lz|<|lO|O|T || |O|—|—
=2 Zln|u|LIL|>|Dxz|D|—|w|I|J]|=
Llwlegl—I<|O0O0|d|w|ulH|la||lw|O
Vi D|e|0|Z|0|—|T|—|V|=|w|—|Z
¥l |T|>ZET|ww|lwls||S|—
LI |N|-|IT|—|x0O0|<C|>|0|N|x

mv\
- 2
m e
[ R~ L~
= o £
e e
L
]
c g
=
o m
b y ¥
s I3 )
W = =
SE 25 E w g
o £ '= [l
6 =5 o C & %
u
L1}
=]
E @ A
(3=} = :mr._r._..
= L - B =
T HC & ¥C %
o ® 2 ¢ o ¥ B
AHHWWE&



